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Electrotécnia

Série 3

Exercici 1

Q1c Q2c Q3a Q4c Q5d
Exercici 2

U
R +R,

a) I= =3A

U
+ RZ(RS +R4)
R, +R, +R,

b) I = = 4A

c)V,=U-RI=20V

R,

v, =V, =10V

3 Ty

OPCIO A

Exercici 3

P
a) 7=100—=90%
) 7 Ul o

b) 7=1000min" = = 10472729 7P _5157Nm
S [0

T:kI:>k:O,2063NTin; U=RI+kw= R=0,096Q

) T’:T/2:>I':é:12,5A; a)':U_kRI 21105454 121056 min"
S

Exercici 4

a) fdp=1=¢p=0= X, :Xczquzﬁ:f:%@ﬁHz
T

2

) P=Y —s20w
R
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) Xes =ﬁ:14,47§2; X, =2750L =0,314Q; zzﬂe2 +(X, - Xx.) =101Q;

I=—=2277A;

v
z

0=(X,-X.)I’ =-73,4VAr
OPCIO B

Exercici 3

U/\3
VR + X7

b) P=3RI*=13790W

a) [= =21,44A

c) O=3XI>=5516VAr

d) S=+3U1=14852VA; cos¢=§=o,9285

Exercici 4

a) I=L—10A:
U

b) %U = 2Rmax1 = Rmax = 0,575Q, Rmax =pSL:> Smin — 1,861’1’11’1'12

min

c) 2,5mm’
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Seérie 1

Exercici 1

Q1lc Q2a Q3c Q4a Q@5b

Exercici 2
%

a) R, = 2 =20
AS

b) U, =R,(4,—4,)+V, =16V

c) U =RA4 +V, =R, =1Q

OPCIO A

Exercici 3

a) I, :L=9A; I. =L:4,5A
XL XC

b) I,=1,—I.=45A

Ic“ »

Ir"
IL"

o) U=72+17 =y(RI} +77 =\J(40-4,5F +180° =254,6 V
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Exercici 4
P
d) 7=100———=90,56%
3UI cos@
e) 3 parells de pols
§ n=975min" = w=10212%.7 2L _1567Nm
S @

g) Estrella; I, =30A

OPCIO B

Exercici 3

e) Z=+R*+X>=1077Q; I, =%=37,14A
f) I, =-/31,=6433A

g) P=3RI; =41381W

h) 0=3X1, =16553VAr

)y S=,3UI =44569VA;cosrp:§: 0,928

Exercici 4
d P=UI=1=1739A

e) R =p%=0,1339§2; AU(%)=100%=1,01%

) 20A



